DIFFERENT TYPE OF NUMBERS-HCF-LCM-SET-1

1 List the elements of the following sets.
(a) A={x|xeZ,—4<x<=l1}
ANEWENR)  osssssimnasmmsssmusnsins [1]
(b) B = {prime numbers between 25 and 35}
AW oo [1]
() C={x|xeR,|x|=4}
o S — [1]
MsS-1 () -3,-2,-1,0,1 B1
(b) 29,31 B1
(c) -4, 4 B1
_ _ I 131
2 . :
(a) 3023 is a prime number.
Write down the factors of 3023.
ARSWEI(A) . ....oeveseseeserssesesessssssesseasenssnsssesssses (1]
(b) p and ¢ are prime numbers.
(i) Write down the highest common factor (HCF) of p and ¢.
Answer(b)(1) ....ovivvesessessssesssssss s [1]
(ii) Write down an expression, in terms of p and ¢, for the lowest common multiple (LCM) of
pandgq.
ABEWEFBIM] oS RAT (1]
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(2)
(b) (@
(i)

1,3023

Pq

3 Here is a list of numbers.
21 23 29 33 39 63 91 92
From the list, write down
(a) afactorof 40, e [1]
(b) aprimenumber. e [1]
MS-3
(a) 23 1
(b) 23 or 29 1 | Allow both but no extras
4 Find the highest common factor (HCF) in each list.
(a) 24 56 72
ANSWEF(Q) ettt [1]
(b) X3}4 XZ);S X4} 2
ABSWEE (D) e 2]

0607-Cambridge International MathaR2v.smartexamresources.com 2




MS-4

(b) x’y

2 B1 for 1 correct term

¥
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()
X
n

m=3%

b3
wn

(a) Find

(i) a.

Answer(a)(1)

(i) —.

Answerfa)(i)
(b) Leaving your answer as the product of prime factors, find

(i) the highest common factor (HCF) of a, b and ¢,

Answer(b)(1)

(ii) the lowest common multiple (LCM) of @, b and c.

Answer(b)(11)

e e
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(1]

[1]

(1]
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(a) (i) 45 1 | Accept in factor form
2
(i) 4 1 Accept 2z
3 3
b)) (@) 32x 52 1
(ii) 2% 3 x5x7 2 | B1 for 3 of 4 factors or B1 for 94500
6 3 2 2 2 6
a=2"x3x5"° b=2"%x3"x7
(a) Find, giving each answer as the product of prime factors,
(i) the highest common factor (HCF) of ¢ and b,
Answer(@)(1) ..o [1]
(i) Vb.
Answer(a)(11) ooooiie e [1]
(b) ap is a cube number.
Find the smallest integer value of p.
Answer(b) ... [1]
MS-6
(a) (i) |22x3 1
(i) | 2x3x7? 1
(b) 45 1
7 Find the highest common factor (HCF) of 96 and 60.
.................................................... [1]
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12

8 Find the highest common factor (HCF) of 8p*;® and 4p°¢'°.
.................................................... [2]
MS-8
4p°q* 2 | Bl for kp’q® or 4p*q" or 4p°¢"
9
(a) 3023 is a prime number.
Write down the factors of 3023.
ABWEN), s R (1]
(b) p and ¢ are prime numbers.
(i) Write down the highest common factor (HCF) of p and g.
T T, [1]
(ii) Write down an expression, in terms of p and ¢, for the lowest common multiple (LCM) of
pand g.
Answer(b)(11) [1]
MS-9

(a) 1, 3023
(b) ()1

(ii) | pg
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Find the highest common factor (HCF) of 60 and 90.

ANSWEF (oot [1]
MS-10
30
11 Wiritten as the product of their prime factors,
7056 = 2% x3*x7* and 8232=2°x3x7°.
Giving your answers as the product of prime factors, find
(a) the highest common factor (HCF) of 7056 and 8232,
.................................................... [1]
(b) the lowest common multiple (LCM) of 7056 and 8232,
.................................................... [1]
(¢) +7056.
.................................................... [1]
MS-11 R : o
(a) 2° x 3Mx 7% isw 1
(b) 2'x 3 x 7 isw 1
(c) 225 3M 5 7 isw 1
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